Math 1190.002





Name: _________________________
Time: 45 minutes.







TEST#1






ID #: _________________________

Read questions carefully and answer. Number in the parenthesis shows the marks assigned for each part of the problem. SHOW ALL WORK FOR PARTIAL CREDIT. 
1. (6) An interval of the type (a, b] is written in the set notation as 
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. Write the set notation for the following intervals: 

a. (a, b) 


___________________________

b. [a, b]


___________________________

c. [a, b)


___________________________

2. (9) Find the domain for the following function:  
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3. (10) Find the equilibrium point for the following demand and supply functions:   
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4. a) (5) Define continuity of a function at a point 
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b) (10)Find the limit:  
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5. (10) Use the graph given below to answer the following: 


a) 
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b) 
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c) 
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d) 
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e) 
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f) 
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g) f(6) = 


h) Is f(x) continuous at x = 6, explain? 
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6. (2+5+3) Find the derivative of the function
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 by definition. (Hint: Follow the steps as given below)    

Step 1: Consider two points x and x+h, where h (0. 

Step 2: Given function is:
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Step 3: Find the function 
[image: image16.wmf]:

)

(

h

x

f

+


Step 4: Find the simplified Difference Quotient for the given function: 
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Step 5: By definition derivative is 
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7. (8 each, total 40) Find the derivative for the following: 

a) 
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b) 
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c) 
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d) 
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e) 
[image: image23.wmf])

3

3

(

)

2

2

(

)

(

3

2

3

3

-

-

-

+

-

=

x

x

x

x

x

f


_1189512141.unknown

_1201521393.unknown

_1201522130.unknown

_1202211884.unknown

_1202211912.unknown

_1202212004.unknown

_1202211583.unknown

_1201697144.unknown

_1201521425.unknown

_1201521808.unknown

_1189675327.unknown

_1189675341.unknown

_1189512744.unknown

_1189674506.unknown

_1189675316.unknown

_1189674318.unknown

_1189512343.unknown

_1189512650.unknown

_1169974087.unknown

_1169974155.unknown

_1189511289.unknown

_1169974095.unknown

_1169974031.unknown

